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Laisa - He/It is not

Lol 28U fwd u.J Laisa — Fael Naaqis Jaamid -The Incomplete Jaamid Verb

—Laisa is a verb. It is an incomplete verb (Fael Naagis) because it does not convey the
complete meaning.

—>Fael Naaagqis is a verb which does not have a faail, rather it has an ism. But even with
the ism it does not give a complete meaning. It requires a predicate(khabar) to complete
its meaning

—As you have learnt about Inna wa Akhawaatu Inna, likewise Kaana also has sisters, Laisa
is one of them.

Kaana wa Akhawaatu Kaana : & &1 &l ¢ 018 (Kaana and its sisters)

—>Kaana has 13 sisters. In this lesson we are going to deal with only one of them — Laisa.
—>Kaana is also Fael Naagis. Some of the rules of Kaana and its sisters are the same, but
others are different.
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The Rules of Incomplete Verb Laisa

Fael Naagis Laisa Qawaaid: 4! @ g jadl |ab
—> Laisa occurs before a Jumla Ismia (a nominal sentence).
—>When Laisa enters upon a Jumla Ismia, the Mubtada becomes Ismu Laisa and Khabar

becomes Khabru Laisa.

—> Laisa causes change in lraab and in meanings.

—Ismu Laisa becomes Marfoo and Khabaru Laisa becomes Mansoob. When Laisa occurs
before a Jumla Ismia, Laisa takes the Mubtada in its own Hukm(precept). Then it gives Rafa’
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to its Ism and Nasab to its Khabar. (Remember that the is already Marfoo but now Ismu
Laisa is Marfoo because of Laisa. Only the reason of being Marfoo has changed).
—>Meaning wise Laisa is used for negation.

—>Khabaru Laisa can be Mahzoof(omitted), Mufrad (single), Jumla Ismia (nominal
sentence) or Jumla Failia (verbal sentence). And Khabaru Laisa can be Mugaddam and Ismu
Laisa can be Muakhkhar.

—> Laisa is conjugated only for Fael Mazi (past tense) not for Fael Mudaray (present/future
tense) nor for Fael Amr (Imperative) because it is Fael Jaamid. When Fael is said to be Fael
Jaamid it means that it has only one conjugation. Only Past Tense can be made.

—>But Laisa usually conveys the meaning of present tense.

- Sometimes Khabaru Laisa comes with Harf Jarr ‘Bi’ s> <3,> <L for emphasis. That Baa is

Baa Zaeda 8.1)<L. It comes only with mufrad khabar. It does not make any changes in the
meaning.

—>Because of Baa Zaeda, 5.513¢L Khabaru Laisa appears to be Majroor (Lafzan Majroor U24]
_s>4) but it is actually Mansoob (Mahallan Mansoob).

—>Sometimes Khabaru Laisa comes without Baa Zaeda 841)¢L . In that case the Iraab of
Khabar Laisa will be Iraabil Harakah or Iraabil Harf.

—In the Quran Khabaru Laisa mostly comes with Baa Zaeda 84313¢b |
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They 2 are not.
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They 2 are not.
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They all are not.
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You 2(m) are not.
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You all(m) are not.
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You 2(f) are not.
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I(m/f) am not.
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We (m/f) are not.

Starting with -3, the 45 Y gets a ¢ 3w

= G G+ g
Since ¢ 4 already had ¢ ¢S, this results in RSl :ad| (the meeting of the two sukun).
This is not permissible in Arabic, so the week letter "s"is dropped.
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Indeed, morning is their appointed time. Is not the morning near?"

[95:8] e%;g»;/\i\ Vg;i:/ i J.«.;J\(%

Is not Allah the Best of judges?

o 2 ? o ) @
[88:22] %M/v-@-glﬁ KIRA %

You are not a dictator over them.

P . @ ../q 5 ° s o . .& P
[6:66] %&i&&l& C}M..J Jﬁ ‘5;-\ f}j &»33 A\g/g_).,\f %e
But your people (O Muhammad SAW) have denied it (the Quran) though it is the truth.

Say: "l am not responsible for your affairs."
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